Ceiling Mount Adaptor

SBP-300CMW

@ Hanwha Techwin

Package

NS

CEILING MOUNT ADAPTOR

Product Overview

i'

This product is used to install the Smart Dome Camera and Anti Vandal
Camera on a concrete ceiling.

Ce produit permet de fixer la caméra SmartDome et la caméra anti-vandalisme
dans le béton du plafond.

Dieses Produkt dient zum Montieren der SmartDome-Kamera und der Anti-
Vandalismus-Kamera an einer Betondecke.

Este producto se utiliza para instalar la Camara Domo inteligente y la Camara
antivandalica en una pared o en un techo de hormigén.

ITA Questo prodotto & utilizzato per installare la videocamera Smart Dome e la
telecamera antivandalismo su un soffitto in calcestruzzo.

3TOT NPOAYKT NCMONb3YETCA ANA YCTaHOBKYM KymobHOW B1aeoKamepsl Smart
Dome W aHTVBaHAANbHON BUAEOKAaMEPbI Ha CTEHY.

Ten produkt jest uzywany do montazu kamer koputkowych i kamer
koputkowych zabezpieczonych przez wandalizmem na betonowej Scianie.

TUR Bu Uriin, beton tavana Smart Dome Kamera ve Anti Vandal Kamera kurulumu

icin kullanilir.

cz Tento produkt je ur€en k instalaci kupolové kamery Smart a protivandalské
kamery na betonovy strop.

YR COBREFALT AR—b -« F=L - AXSETVF-RNVEIV- A
ASAVY) - FRORHICRELE T,

CHI gf‘;;uﬁﬁ F RS+ X %% Smart Dome B 1§ 4150 Anti Vandal

E HE2 232|E MZo| YA Smart Dome Camera, Anti Vandal Camera
£ HX| Al AH83tH= AdaptorLICt

Installation Precautions

Make sure that the installation place can endure at least 4 times of the total weight of the
Ceiling Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor, and Camera.

This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

For a concrete wall, it is recommended to use M10 Anchor Bolts (Nuts) along with plain and
spring washers.

Each anchor bolt to use must be capable of withstanding an extraction force of 700 kg.
When installing the product outdoors, use interlocking devices made of stainless steel.

Assurez-vous que I'emplacement de I'installation peut supporter au moins 4 fois le poids
total de I'adaptateur de fixation au plafond, de I'adaptateur de fixation murale, de
I'adaptateur pour fixation suspendue et de la caméra.

Pour installer ce produit, vous avez besoin de boulons d’ancrage M10 (écrous a river).

Si'le mur est en béton, nous vous conseillons d’utiliser des boulons d’ancrage M10 (écrous
ariver) avec rondelles de ressort et plates.

Chaque boulon utilisé doit pouvoir résister & une force d’extraction de 700 kg.

Sivous installez le produit a I'extérieur, utilisez des dispositifs de verrouillage en acier
inoxydable.

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht des Decken-, Wand-
bzw. Hangeadapters und der Kamera tragen kann.

Bei der Montage dieses Produkts bendtigt man Ankerbolzen und Muttern (M10).

Bei einer Betonwand wird die Verwendung von M10 Ankerbolzen (Muttern) und von
Unterleg- bzw. Spannscheiben empfohlen.

Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, missen Verriegelungseinrichtungen aus Edelstahl
verwendet werden.

Asegurese de que el lugar de instalacién puede soportar al menos 4 veces el peso total del
adaptador de montaje en techo, el adaptador de montaje en pared, el adaptador de
montaje en suspension y la cdmara.

Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.
En un muro de hormigon, se recomienda utilizar pernos de anclaje M10 (tuercas) junto con
arandelas planas y de muelle.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.

Al instalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.

Assicurarsi che il punto prescelto per I'installazione possa sopportare un peso 4 volte

superiore a quello totale di adattatore per montaggio a soffitto, adattatore per montaggio a

parete, adattatore per montaggio sospeso e videocamera.

Questo prodotto e progettato per utilizzare bulloni di ancoraggio M10 (dadi) per

I'installazione.

Per una parete in calcestruzzo, si raccomanda di utilizzare bulloni di ancoraggio M10 (dadi)

con rondelle piane e elastiche.

Ogni bullone di ancoraggio da utilizzare deve poter resistere ad una forza di estrazione di

700 kg.

Per installare il prodotto all’aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.

Y6eaunTech, YTO MECTO YCTaHOBKM BbIAEPKMBAET BEC MPUMEPHO B 4 pasa bonbLunii

obLero Beca afanTtepa 1A KpenneHna K NoTosKy, HaCTeHHOrO, HABECHOrO afanTepa 1

Kamepbl.

[InA yCTaHOBKM 3TOrO NpoAyKTa HEOOXOAMMO MCMONb30BaThb KpenexHble 6oNTb (raki)

M10.

[InA yCTaHOBKM Ha CTEHY PEKOMEHYETCA UCMOSb30BaTh KpenexHbie 60nTbl (raiku) M10

BMeCTe C NMPYXWHHBIMW U MNOCKUMM Wanbamu.

Heobxoamnmo, uTobbl Kaxablit KpenexHbli 6onT MOT BbldepxaTb Cunosyto oTaauy 8 700 Kr.

ECnv NpogyKT yCTaHaBAMBAETCA BHE MOMELLEHWA, HEOBXOAMMO NCMONb30BaTb

YCTPOWCTBO BIOKUPOBKY U3 HEpPKaBeloLel CTanu.

Upewnij sie, ze miejsce instalacji moze utrzymac ciezar czterokrotnie wiekszy od tacznej

wagi Przystawki sufitowej, Przystawki $ciennej, Przystawki wiszacej i Kamery.

Produkt ten nalezy montowa¢ za pomoca kotew (nakretek) M10.

W przypadku $ciany betonowej zalecane sa kotwy (nakretki) M10 oraz podktadki zwykte

i sprezyste.

Kazda kotwa musi mie¢ zdolno$¢ wytrzymania sity wyciagania 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywac blokad ze stali nierdzewne;.

Montaj yerinin Tavan Montaj Adaptorinin, Duvar Montaj Adaptorinin, Askil Montaj

Adaptérinin ve Kamera’nin toplam agiriginin en az 4 katina dayanikli oldugundan emin olun.

Bu Urtin, M10 ankraj civatalanyla (somunlar) birlikte kullanimak igin tasarlanmistir.

Beton duvarda, diz ve yayl rondelaya sahip M10 ankraj civatalarinin (somunlarin)

kullaniimasi énerilir.

Kullanilacak her ankraj civatasi, 700 kg glice dayanabilmelidir.

Urlini dis mekana kurarken, paslanmaz gelikten yapilmis ig kilit mekanizmalart kullanin.

Ujistéte se, ze misto, kam chcete zafizeni instalovat, unese nejméné Ctyfnasobek

souctu hmotnosti adaptéru pro upevnéni na strop, adaptéru pro upevnéni na sténu,

zavésného montazniho adaptéru a kamery.

Tento produkt je navrzen pro pouZziti kotevnich Sroubd a matic M10 pii instalaci.

U betonovych stén se doporucuje pouZit kotevni Srouby a matice M10 spolu s plochymi

a pérovymi podlozkami.

Kazdy kotevni Sroub musf byt schopen odolat tahu 700 kg.

Pri instalaci produktu ve venkovnich prostorach pouZiite zajistovaci prvky z nerezové oceli.

REHIION KABSTRT L TR T4V RTINS T AT RN F VG IIU TR

TR BLUAASDEHEEDRAMIL CHASNBTLERIRL TEEL,

ORI MOTVh— RV (Fy M) ZEBLTRELE T,

a0~ MEDREICERB T AHEEIE M7V A— RV (Fyh) &b FTYY v—6

FUORTUVG Dy v—%ERTHIEEHBHLET,

BRTBET Y H— RV ML T00kgDEENITASNET,

COHBEBRIMNCEHETHEIE ATV LV ABOEEEBEEHERLTIEEL,

1ﬁﬁ%1%"‘”*14§§"‘7uf¥<1%7“m RIBEER. BLRRERR. BERRE

FEGIEERH 4 (58 -

A& it AR M10 Emﬂ%’i% (28 HITRE.

XT:FIhblﬁiiEl ) Ll)(fi—r M10 ./Eﬁ?fi ( E;E}) rﬁﬁ;ﬁgé &E’J:&.-n =] 1§Fﬁ
EFEANSNEEIBL L ARER KT 700 A THRENE.

TE?I‘***#.:.:ET HERATSREENRSIRE.

“*I’é*¢7lCe|l|ngMountAdaptor Hanging Mount Adaptor, Camera®| 52| 4t 0|&t2
el

B 2R

F20/ A9 + U2 20 MXth
ol HiES M102) 27t 2 (L1E) NS5 HAslof gL,

232/E%0) A Z2 M109] U7 BE(IE)S Hebd 3 Anetiel 8 ASSL
K8 2%l U3t BEE 700k o w0l A|ofof BLCY,

S0 43| A| HZFE AHIA LS AZSHHIL,



Installation

1 Pull out the external power cable, BNC cable and communications cable
(for connecting to the “Camera”) through the rear of the Ceiling Mount

Adaptor into the pipe.

= Then, it is recommended to keep the cables in a distance of about 100 mm from the

pipe.

Ceiling Mount Adaptor

2 Markand drill 4 holes into the Ceiling Mount Adaptor and insert the Anchor Bolts

or Nuts (M10).

3 Secure the Ceiling Mount Adaptor onto the ceiling using the “Anchor Bolts or

Nuts (M10)".

Anchor Bolts

4 Mount the Camera set on the Pipe.

" |nstall the camera according to the camera's installation guide.

Product Specifications

Weight : 700g

Material : Aluminum

Operation temp. : -50°C~60°C

Operation hum. : 0~100%

Ciezar : 700g

Materiat : Aluminium

Temperatura robocza : -50°C~60°C
Wilgotno$é robocza : 0~100%

Poids : 700g

Matériau : Aluminium

¢ Température de fonctionnement :
-50°C~60°C

Humidité de fonctionnement : 0~100%

Agrrlik : 700g

Malzeme : Aliminyum
Calisma sicakligi : -50°C~60°C
Calisma nem degeri : 0~100%

Gewicht : 700g

Material : Aluminium

Betriebstemperatur : -50°C~60°C

Betriebsluftfeuchte : 0~100%

Hmotnost : 700g

Materidl : Hlinik

Provozni teplota : -50°C~60°C
Provozni vihkost : 0~100%

Peso : 700g

Material : Aluminio

Temp. funcionamiento : -50°C~60°C

* Hum. funcionamiento. : 0~100%

& :700g
ME:TIVIZ UL
ENMERE : -50°C~60°C
BERE : 0~100%

Peso : 700g

Materiale : Alluminio

Temperatura di esercizio : -50°C~60°C

Umidita di esercizio : 0~100%

E & :700g

4R

TR :-50°C~60°C
T{EREE :0~100%

Bec : 7009

Matepuan : AnlomnHui

Temnepatypa npw pabore : -50°C~60°C

BnaxHocTb npu pabote : 0~100%

Product Outline

2 17009

HE D Aluminum

A8 2k 1 -50°C~60°C
A8 &5 1 0~100%

mm(inch)

300.5 (11.63") 5.0 (0.2"1

@ 130.0 (5.12")

1-l/2" FF TAP

PTO1-005166B



